MpousBoanTENb FAPAHTUPYET COOTBETCTBME U3AENNSA XAPAKTEPUCTUKAM,
YKA3AHHbBIM B NMACMOPTE, B T@YEHUE MaPAHTUAHOIO CPOKA, MW COGMI0OEeHUN P I G R U P 8 (800) 555. 20 90
TPE6OBAHW MO YCTAHOBKE M SKCTNYATALMM. [APAHTUS HE PACMPOCTPAHAETCS www.ptunlng.ru

HA cny4au, koroa ,D,e¢eKTbI BO3HUKIIN MO BUHE I'IOTpeél/ITeJ'Iﬂ nnn TpeTbnx nny, B
pe3ynbraTte HapyLleHWda NpaBuil TOAHCNOPTUPOBKK, XPAHEHWSA, MOHTAXAJ,
3KCMAYATALMM, O TAK Xe BHECEHUSA U3MEHEHUN U ,D,OpCléOTOK

B OHCTPYKLINK. Taroso-cLenHoe yCTPOMCTBO

MpounsBoanTenb He HECET OTBETCTBEHHOCTM 30 HOHECEHWE YLLIEePBa MMYLLIECTBY

TPETbUX NN, B Pe3yNibTdTe HenpaBWMSIbHOIro Tu “a Av

XPAHeHWd 1 aKCnyaTaunn nsgenua.

UHCcTpyKumMs No ycTaHOBKE
U aKkcnnyatauuu

The manufacturer guarantees compliance of the product with the
characteristics specified in the manual during the warranty period, in case of
installation and operation requirements compliance. The warranty does not
apply in cases where defects appear due to the consumer or third parties’ fault, AV type coupling device
as a result of violation of the transportation, storage, installation and operation
requirements, as well as changes and modifications into the construction. The
manufacturer is not responsible for damage to the property of third parties as a
result of incorrect storage and use of the product.

Installation and operating instructions

I
=
&

Cném
6éamnepa

0

x
El
z

Bumper
disassembles

CBUAOETENIbCTBO O NPUEMKE
CERTIFICATE OF ACCEPTANCE

N

[aTa ynakosku Lramn OTK
Packing date Stamp of the Ra (Yes)
Quality control nonpe3|(a
6amnepa
Her (No)
Bumper D
tti
CBWOETENbCTBO O MPOOAXE cuting
SALE CERTIFICATE
JaTta npopokun Lramn marasuHa
Date of sale Store stamp

ApTukyn: Mapka 1 Mmogenb asToMo6mns:

TOPAHTUIHBIA CPOK 12 MecsLEB C AATbI PO3HUYHOM MPoaaxu. CoxpaHsitTe M LT-24-991 422000 M ITSUBISHI Lzoo 2024-

[IOHHbIA JOKYMEHT B T@YEHME BCEro MAPAHTUHOIO CPOKA.
(Warranty period is 12 months from the date of retail sale. Keep this document
during the entire warranty period.)

* - MNogxoauT Ha koMmnnekTaunm ¢ 2024 r.B. MO HACTOSLLEE BPEMS.
Suitable for configurations from 2024 to the present.



3HakomcTBo ¢ Bawumm ¢apkonom

®apkon TMna AV oCcHALLEH 6bICTPOCHEMHOM CUCTEMOM AEMOHTAXA CbEMHOM
4acT1 GapKona (KPHoKa) C KIKYEBLIM AOCTYMOM M COYeTaeT B cebe yOoo6CTBO
SKCMYATALMN U BEICOKYIO CTEMEHb 3ALUMLLEHHOCTN OT MOTEHLMABHOM KPAXM.
BbIrogHbIM MPEenMyLLIECTBOM KOHCTPYKLMK dapkona Tmna AV gBageTcs To, UTO nNpwu
OEMOHTUPOBAHHOM KPIOKE HO ABTOMOGUIIE OTCYTCTBYIOT BU3YASIbHbIE MPU3HOKMU
YCTAHOBIEHHOrO GAPKOMQA.

YCTOHOBKO M CbEM KPIOKO He TPpeByeT KAKMX-TMB0 MHCTPYMeHTOoB. Cuctema
3ANUPAHKS KPIOKA HO MPUEMHOM YACTK GAPKOMA BbIMOAHEHA C MOMOLLbIO CAELNAbHO
Pa3PAGOTAHHOrO CTOMOPHOIO MEXAHN3MA. [pK YCTAHOBKE KPIOKA €ro Gukcaums B
NMPUEMHOM YACTU GAPKONA MPOUCXOOUT ABTOMATUYECKN. [1N5 AEMOHTAXA CbeMHOM
yacT1 dpapkona (Kproka) TpedyeTcs BCero ABa AeMCTBUS: MOBEPHYTb KoY B OTKPbITOE
COCTOSIHWE U YCTAHOBUTb PYUKY KPIOKA B MOMOXEHUE PA3GIOKMPOBAHO, YTO B
3HAYNTENBHOWM CTEMEHM MOBbILLAET KOMGOPT IKCMNYATALMN GAPKOMA.

Kaxpabin kptok dapkona Tuna AV nogsepraetcs 50-4acoBoOMy CrieumanbHOMy
WCMbITAHWIO HO YCTANOCTb B NA60PATOPUM Npon3BoamTens. Bo Bpems 4aHHOro Tecta B
TEUYEHUN 2 MUIITTMOHOB LIMKJTOB UCTIBITBIBAKOTCS XAPAKTEPUCTUKM KPIOKA HA
COOTBETCTBME 3ASBNEHHbBIM TArOBbIM MAPAMETPAM.

OTO rapPAHTUPYET HOM, YTO KOXAbIA MPOAYKT MMEET OANHAKOBOE KAYECTBO.
KauecTtBo npoaykumm Takxe nogreepxaeHo ceptnomkaTom N2, E4 nonyyeH
NHcTuTyTOM cepTudmkaumm RDW B Ffonnangun.

Meet your AV type coupling device

The AV type coupling device is equipped with a quick-release system for
dismantling the removable part of the device (towball) with key access and combines
ease of use and a high degree of security against potential theft. Advantage of the
AV type coupling device design is that when the towball is disassembled, there are no
visual signs of an installed towbar on the vehicle.

Assembly as well as disassembly does not require any tools. In these systems a
towball is mounted to the socket by a specially designed locking bolt. It can be
mounted by plugging the towball to the socket and it locks itself automatically. To
disassemble the towball, only two steps are required: turn the key to the open position
and set the towball handle to the unlocked position. Automatic systems significantly
raise the comfort of usage.

Each towball, before market sale, is subjected to approximately 50-hours of a
special fatigue test in producer laboratory. The test is based on checking its strength
by 2 million cycles under certain weight. It ensures us that every product has the same
quality.

The quality of our products is also certified with approval no. E4 received by
Certification Institute RDW in Holland.




UHCTPYKLMA NO YCTAHOBKE KPIOKa
Installation instructions

2 m@®~IY

r’ | [

Mepen TeM, KAk NCNOb30OBATb CbEMHbIN KPIOK, HEOOXO-
OMMO O3HOKOMUTLCS C MHCTRYKLMEN.

BHeceHWe 13MeHeHNn B KOHCTPYKLMIO CbEMHOTO KPKOKA
1 NPUEeMHoe OTBEPCTME 3aMPeELLEHO.

Kakne-nnéo MexaHmndeckme noBpexaeHns CbeMHOro
KPHOKQA M MPUEMHOrO OTBEPCTUS UCKIIOUAKOT ero
OONbHENLLYIO SKCMTYATALMIO.

[ns MOHTOXA M OEMOHTAXA CbeMHOro kproka (1)
Heo6X0oaMMO MPUMEHSTL TOSBKO CUMY PYK. Micnonb3osa-
HMEe OOMOSHUTENbHbBIX MHCTPYMEHTOB MOXET MPUBECTU K
MOJSIOMKE CL,EMHOro MEXAHM3MA.

HpOM3BO,D,MTeJ'Ib He HeCeT OTBETCTBEHHOCTU 30 BO3HUK—
Lne noBpexgeHua B cnydae Hecob6noaeHs npasun
SKCAyaATAUMN M MOHTOXA CbeMHOI0 KPIOKA.

Kaxgbin pa3 nocne yCTAOHOBKM CbEMHOIO KPHOKA B
NPUEMHOE OTBEPCTUE HEOBXOONMO YOEAUTHCS, YTO Bbl
BMOWTE 3ef1eHoe MOoJie HA PYKOSTKE CbEMHOMO KPIOKA
(3), ¥ NPUMEHUTL OMONHUTENBHOE GU3MYECKOE YCunme
NS TOro, UTOGkl YEeamnTbCs, YTO CheMHBI KPIOK HOoeX-
HO 3aKPErseH B NPUEMHOM oTBepCTUn (6).

CopepXuTe B YACTOTE 3AMOPHbIA MEXTAHM3M CbEMHOTO
KPIOKA W MOCafo4Hoe MecTo. [locne AeMOHTaXAa
CbEMHOTO KPIoKA ycTaHosmMTe 3arnyLuky (1). Hannuune
MOCTOPOHHMX 3ArPA3HEHM MOXET MPUBECTU K HEKOP-
PEKTHOM paéoTe nsgenus.

OTCOeanHNUTE CLEMHBIN KPIOK, €CNN Bbl HE MaHUPYyeTe
MCMONb30BATH MPULLEN.

Please read the manual, before using the towball.

Any modifications of the towball and the socket are
straightly prohibited.

Any mechanical damage of the towball and the socket
precludes its further exploitation.

You have to use only arm force to install and dismantle
the towball (1). Using additional tools may damage the
coupling mechanism.

The manufacturer is not responsible for damage caused
in case of non-compliance with the rules of operation
and installation of the towball.

) Each time you install the towball into the socket, you

must ensure that you can see the green field on the
towball handle (3] and apply additional physical force to
ensure that the towball is securely fastened in the
socket. (6)

Keep the towball locking mechanism and socket clean.
After removing the towball, install the plug (1). The
presence of foreign contaminants may lead to incorrect
operation of the product.

J (V) Detach the towball if you do not plan to use a trailer.




KpoHLTemnHbl - Kopnyc MEXQHM3MA
KpOHLUTElH OCHOBHO N1€BbIV 1 MPOBbIA BOKOBKHA 3aksioaHas NnacTyHa SbiCTpoChEMa
(Main bracket) (Right / left brackets) (Side detail) (Mounting plate) (Towball socket)

4

6

5 N
X 5 .z[‘ S x1

N

4

1!

61 x1

8 X619

W

x18 'IO x6
9%,

[NacnopT nsgenus

Product passport

MLT-24-991422.00

characteristics
Tun (Type): A50-X

D(kN) S(kg)
15,9 140
T(kg) Clkg)
3005 |750/3500*

S - MOKCUMAIbHO JOMNyCTUMAst
CTATUYECKAS BEPTUKANBHAS
HArPY3Ka HA LLAP;

T- TexHU4Yeckn nonyctnmasa
MAKCMMAJIbHA4 MACCA TAraya;

C- MakcuMansHas Macca
npwvuena no OAHHbIM
npounssoautens TCY.

(* - ong npuuena, oéopyno-
BAHHOrO TOPMO3AMM)

Kptok MexaHnama KpoHLTenH posetkm
6bicTpocbéMa (Towball) (Socket bracket) M12x25 M14x1,25x45 M12x1,25 )
‘|'| x30 12 x24 13 X1 14 X1
K C
e o0 moange | OB
(Knacc npouHocTv MeTusos: bonT - 8.8, Marka - 8
(Hardware strength class: Screw - 8.8, Nut - 8)
'&{ M12 80
~
TexHuyeckue D= (g*T*C/(T+C) - ropuaoH- D= (g*T*C)/(T+C) - horizontall
TANbHAS CUNA, AENCTBYIOLLOS force acting between the
Xa pq KTepMCTM KU MexXay TAra4yoM u NpULEnomM; tractor and the trailer;
Technical

S - maximum allowable static
vertical load on the ball;

T - technically permissible
maximum weight of the
vehicle;

C - maximum trailer weight
according to the AV type
coupling device producer.

(* - for a trailer equipped with
brakes)

J




UHCTPYKLMUSA NO YCTAHOBKE
Installation instructions

-

,

.

LUAT 1.

[eMOHTOX 3aMaCHOro Koneca He TpedyeTcs.
MomMecTuTe 3aKNagHbIe NIACTUHBI BHYTPb
NIOHXEPOHOB COMIACHO PUCYHKY.

First step

Disassembly of the spare wheel is not
required. Place the inserts inside the spar
(see diagram)..

-

\

LUAT 2.

3aKkpennTe KPOHLUTERHbI MPY MOMOLLM
6ontoB M12x1,25X45 B LUTATHbLIX OTBEPCTUAX U
B MPWBAPHbIX FANKOX 3AKIAAHbBIX MAACTUH,
yepes Wanbsl 12 1 rpoBepHbIe LWanbsl 12.
YCTOHOBUTE GOKOBMHbBI C HOPYXHBIX CTOPOH
NOHXEPOHOB B LUTATHbIE OTBEPCTUS MPU
nomoLm 6onToB M12x1,25x45, yepes LWaibbl
12 n rpoBepHbIe Wanbsl 12.

Second step

Install the brackets. Fasten the brackets
through the standard holes using
M12x1.25x45 bolts, M12x1.25 nuts, 12 washers
on both sides and 10 lock washers.

Install the side frame on the outside of the
spar, securing it with M12x1,25x45 bolts
through washers and lock washers 12.

e

.

LUAT 3.

[ns yoo6cTBa AanbHerLwLen yCTAHOBKM
pEeKOMeHOyeTCs NPeABAPUTENBHO
30KPENUTb KOPMYC MEXAHM3MA
BbICTPOCHEMA U KPOHLUITENH PO3ETKM HA
6anke TCY npwu nomolm 6ontos M12x25,
A6 12 1 Wané 12 rpoBepHbIX.

Third step

For comfort further installation It is
recommended to pre-fix the towball socket
and socket bracket on the coupling device
beam by using M12x25 bolts, 12 washers and
12 lock washers.

s

(.

LUAT 4.

MpvkpenuTe 60KOBUHBI K KPOHLLTEMHAM MpU
rnomoLLm 6ontoB M12x1,25x45 n raek M12,
yepes rpoBepHble Wandsl 12 1 Lwanébl 12 ¢
[BYX CTOPOH.

YcTaHOBWTE 6Ky, COBMECTMB OTBEPCTUS B
6asKe, KPOHLUTENHOX 1 BOKOBUHE.
McnoneayinTe 6ontel M12x1,25x45, ranky M12x
1,25, Wwanébl 12 1 rpoBepHble Wanbbl 12.
Ortperynupy#iTte nonoxexHue TCY u 3araHure
BCe coefJMHeHHs.

Fourth step

Connect the side frame and the bracket with
a bolt M12x1.25x45 and a nut M12x1.25 through
washers 12 on both sides and washers 12.
Secure the coupling device beam by aligning
the holes in coupling device beam with holes
in the sidewalls and brackets. Connect them
using M12x1.25x45 bolts and M12x1.25 nuts,
through 12 washers and 12 lock washers.
Adjust the coupling device position and
tighten all connections.

~

-

LUAT 5.

BcTaBbTe KpIoK B MPMEMHYIO YACTb dapkona,
ero ganbHenwas Gukcaums 1 3anupaHme
npousongyT ABTOMOTUYECKW.

YcraHoBka 3aBepLueHa!

Fifth step

Insert the towball into the coupling device
socket, its further fixation and locking will
happen automatically.

Installation completed!




-

Tpe6oBaHus K 6€30NACHOM IKCNNYyATALUM:

SESESESENEE

S

S

8 d

S

Mepepn yctaHoskon TCY HEOBXOOAMMO YTOUHUTL BO3MOXHOCTb BYKCUPOBKM NpULEena ang AaHHOro
QBTOMOBWS B PYKOBOLCTBE MO IKCMTYATALMM.

YCTAHOBKY ¥ akcnnyaTaumio TCY NpoBOAUTL B CTPOMOM COOTBETCTBUM C AAHHOM UHCTPYKLMER MO
YCTQHOBKE.

3anpellaeTcs YCTAHABAMBATL U3AENNE HA APYTYIO MAPKY Y MOAENb ABTOMOBUIIS.

YctaHosky TCY BbIMOMHATL B CNELMANU3NPOBAHHOM CETPUPULNMPOBAHHOM YCTAHOBOYHOM
LeHTpe. 3anpeLLaeTcs BHOCUTb UBMEHEHMS B KOHCTPYKLMIO TCY.

MW OBHAPYXEHUU KOHCUCTEHTHOM CMA3KM B MECTAX MPUNEraHUS GAPKOMNA €€ HYyXHO YAAMTb.

B HeKkoTopbIX ABTOMOGUNSX C MAPKTPOHWMKAMYM BO BPEMS €3[bl C YCTAHOBIEHHbIM KPIOKOM
NAPKTPOHMKM MOTYT OBHAPYXMUTb LLAP KAK NpensTcTene. B aTom cnydae HO[o NepeHacTponTb
nepenerns PanMyca OenCTBUS AATYMKA U UX BbIKIIIOUUTL. MNAPKTPOHMKM PABOTAIOT KOPPEKTHO
B CIy4de OEMOHTAXA CbEMHOTMO KPIOKA GpAPKONA.

CnepyeT yunTbIBATL MHGOPMALMIO M3rOTOBUTENS TOAHCMOPTHONO CPEACTBA O MAKCUMASTbHOWM
BENMYMHE HArPY3KM (MOKCUMAbHAS MACCA MOSIHOMO MPULENG M AOMYCTUMAS BEPTUKANbHAS
HArPY3Ka Ha Wap). 3anpeLloeTcs NPeBbILLATL AOMYCTUMbIE MAPAMETPbI CLEMHOro YCTPOMCTEA.

Bo Bpems 6ykcnpoBkM NpuLEen JOMmKeH 6UTb coeanHéH ¢ TCY LonONHUTENBHOM CLEMNKOM
(MeTannMueckmin TPOC UNK Liensb).

Kaxpble 1000 kM cnepyeT NpoBepsiTh 3ATIXKY BCEX COeAMHEHUN. PekoMeHayeTCs ConepXaTb
LLOP B YNCTOTE, UCMOSB3OBATb MICACTUYHYIO CMA3KY M MPOUMEHSTH Konnadok. Bce mexaHnyeckme
NOBPEXAEHUS CLIEMHOIO YCTPOMCTBA UCKIIOYAIOT €ro AANbHENLLYIO SKCTTYATALMIO.
MNoBpexaeHHOe CoOeaUHUTENBHOE YCTPOMCTBO PEMOHTY He MOANEXUT. B cnyyae HapyLleHus
NPOBWI MOHTOXA UMM HEMPABUIIBHOTO UCMOMB30BAHWS MOOU3BOAUTENb HE HECET
OTBETCTBEHHOCTU 301 BO3MOXHbIE NMOBPEXAEHUS.

MpounssoanTENb rAPAHTUPYET COOTBETCTBME U3AENNS XAPAKTEPUCTUKAM, YKA3AHHBIM B
nacnopTe, B TeYeHNe rapAHTUIMHOMO CPOKA, MPW COBMIOAEHUN TPEGOBAHMI MO YCTAHOBKE 1
3KCINyaATALUM.

|_|pOVI3BO,D,l/ITeJ'Ib HEe HECET OTBETCTBEHHOCTU 30 HOHECEHUE yu_l,epéo MMYLLIeCTBY TPETbUX NAL, B
pe3ynbTaTe HEMNPABUIIbHOIO XPAHEHUS 1 SKCTTyaTAUMU U3Oenuns.

CnepyeT cobntogaTth OTeHeCTBEHHbIE NPaBua odopmneHns TCY.

[QPAHTUS HE PACTPOCTPAHAETCS HA CrydYau, KOrad AedekTsl BO3HUKN MO BUHE NOTPeBUTENs
WY TRETBUX NNLL, B PE3YNBTATE HAPYLLEHMS NPABU TPAHCMOPTUPOBKM, XPAHEHNS, MOHTOXA,
AKCMNYATALMN, O TAK XEe BHECEHUS M3MEHEHNI U BOPABOTOK B KOHCTPYKLMIO.

MHcTpyKuma no ycTtaHoske TCY, pekoMeHayemMas Npon3BoamTeneM, 6bina 06paboTaHA HA
OCHOBOHMWN TEXHUYECKMX YCIOBUI CO OHSI MOArOTOBKM TEKCTA. B cnydae nsmeHenn unu
MOAMOUKALMM MPOLLECCA NPOJYKLMK, O TAKXE B Cydde pacLumpeHus npumeHeHus TCY,
NPOW3BOANTENb BNPABE BHECTU M3MEHEHWS B TEKCT VHCTPYKLMK.

-

Safety requirements:

SESENNEN

S

S

S

SESHS

S

Before mounting of the coupling device check the user manual and registration book of the
car whether the vehicle is equipped to tow a trailer.

Device has to be installed and operated in a car according to this instruction.
Do not install the product on another type of vehicle.

The installation of the coupling device should be provided only by specialized certified
service center. Any alterationor modification of the coupling device is prohibited.

Remove the insulating compound and underbody coating - if there is any - from the area
around the contact surface of the coupling device. In case you found the grease in the
contact areas of the towball, it must be removed.

In the case of vehicles equipped with parking sensors, ride with a mounted ball causes
detection it by sensors as obstacles. | In this case, adjust the sensing range or disable the
acoustic parking System. If using coupling device with removable ball, the acoustic parking
system should function normally when the ball of tow bar is not in the operating position.

It should be considered information provided by the vehicle manufacturer about the
maximum load value (maximum mass of the full trailer and permissible vertical load of the tow
ball) at the same time acceptable parameters of the coupling device cannot be exceeded.

The trailer must be linked with an elastic joint with proper durability (cord,chain).

Check the screw connections after driving approx. 1000 km and for loosening nuts, the bolts
must be tightened. Always keep the towball clean and lubricated with grease. Use the
towball shield. All mechanical damages of the coupling device preclude its further
exploitation. Damaged coupling device cannot be repaired. In case of braking the rules of
montage or improper usage manufacturer do not take responsibility for possible damages.

The manufacturer guarantees compliance of the product with the characteristics specified in
the these instruction during the warranty period, in case if all requirements to compliance
with manufacture installation requirements.

The manufacturer is not responsible for damage to the property of third parties as a result of
incorrect storage and operation of the product.

Follow national guidelines for technical acceptance of the coupling device.

The warranty does not apply in cases where defects appear due to the consumer or third
parties’ fault, as a result of violation of the transportation, storage, installation and operation
requirements, as well as changes and modifications into the construction.

Instruction for installing the coupling device recommended by the manufacturer in this
document was developed based on the technical specifications applicable at the date of
writing this text. In can be changed in case of introduced by the manufacturer modification
of the production process and in the case of extending the use of the coupling device.






